E°S I )II B Pq X
1:50,000
ingen 490 o600 2020 3000 as
D7 EE
T 32, i
E &30 )| EZKBA & ARl A & R o
E VT3S E Fﬂﬁ gliu_.\ E Fﬂﬁ
80.0 B AR
0.0 rrEE R
60.0 WERERN [TOTRANEE
5.0 —
10.0 ER10S MR {TRI0% ——HwWL
300 —pmmm—— L e EARTHIER
20.0 = —— BRAEE
i — HERHE
i3 . EMEREEE
0.0 ERARBEE i
16.0
0.0 LO 20 30 40 50 60 7.0 80 00 10.0 1.0 §2.0 13,0 140 150 160 17.0 18,0 19.0 20,0 21.0 22,0
EER W (k)
AR 1/268, 1241 1213 1179 1/157 1147 1126 A 128 01 /190,
s | 2 s 3 2 s 5 2 i 2 &
(1B = = 2| B 5 5 £ 5 g 2 £ |
= = - A
b AL 2 = =k b= 2 5 B 2 2 & n
(T.P.m) = = - & # 3 g = =l g
[T = = me P - e - = =
wgnka | 5 z 5lE 2 2 £ 2 2 =
(T.P.m) il i - 2 i =
e | S £ BE £ 2 2 i & 8
B B . TR D (5 T L1 25 [2&B.
& (e TR E
90,0
-
X0 wemaEniE ¥, i"”""él
e v, HI
70.0 FF
i
5.0
50.0
40.0
------ ERBTSAEE
30,0
. EMEREEE N
EREREER (SIS
20.0 T &
0.0 1,0 20 40 4.0 50 60 7.0 B0 9.0 =1 il
SERE (kim) " A
R A R 1/193 1/148
BRI 2| :
(TP E 2 £
ekl | 2 2| &
(TP S Ed E
(3 P "
TR e g 2
(TP} . = e
FTS TN 2 B
FEBARS. BRA R BE LR 2 MR- 5,
e ]
V=1 400
ZENEEERE =00 e
4K00
sl
/ —_—— EHwh_ .19 828 — s— i |
3\ L A
b e — \
R T
i
* he
il
mﬂ*ﬁﬁ?g
_v=1: w0
RiENEHEE s=tovi e Giaser

17K00

9 EpEmiRREK
il

e

e

\\,_-4
e i
|
|
Lﬁ
|
L

18 HEEHRR 12 BIER

KEENE] N
17 gmmﬁﬁm;i
KT

wos 16 BLE iﬁﬁ%"ﬁﬂﬁ
KEkE " h”\

y=1: 250
H=1:2 500

ERNEEERE 8=

oKs0

AT ) BTN
%

SNy >
S
TA R .

1/1 - TR gmem RN Ve
i F\ e ~N. B
R e ) L fﬁﬁ*%ﬁ RA T

~16 ﬁk%a“l?‘"

{a %Wﬂ%ﬁlﬁ

s=1:400 E. ij' (0

T, EEh ARk
| Kzt

g ERE (ZEI)

5.00™ (13.5-2210K)
600M ( 0.0-135K)

.7\.1? ’i—iTDK‘MM =2 HWL 1 2 %%g?ﬂﬂgfﬁ7k
@ | KAE S R
11/ SR AR K
,;’ / ‘;."’ | 7k\j§i ;5.6 :]:E
IEBHRARTEE (BRI s=ao0

/0 Btk
A1

P =
S=1 200,000
5K FRA) | BiREAGHEE : i i
o M A A | MPLSARE ACEHE 2000m ! A
£ WO R 56Tkme(E5126km?, T 5 Akm?)
# B BE B | AN Slkm  ENEFHI 343km |
0 R B 901X | KRR A 67.7km?
AT B M| AN 227km  ENIEER B9km
HAUGAHT  (FRKERT)6000m/s
A B A R | BRRiFSAHCEL  (FE IR 6000mYs
(-3 450 4.900m%/s
WIHI35E (1960) 8 H14H (A MI2%) (TR 4017md/s)
BEAMLAE (1966) 9 H24H (2 M26%) (THMLT 2342mb/s)
RO (1974) 7 H 8 A(&M 8 % (L4 3H) (TR H3927TmYs)
BEAE % 4 A | VRIS (1979)  10H19H (A EL20°5) (TARMLLY 4.862m3/s)
WEHISTAE (1982) 812 0{(AMI0E) (FRHELL 385TmYs)
A 34 (1991) 9 HI9H (BB (78BS ) (F#MA 2511m?/s)
SERCIZAE (2000) 9 120 (fil14%) (i 3191m/s)
# . !.:‘l'
EPEER
i} e
s
+ ¥ 7R \;:u-
i
B
2am
%
@ ; ‘,u/
=am o
L
bl R g =B
e}
[}
&= P
il ‘e« X -6::1“.;:«
5 4
. Fud *
-
& R Ao
= ol
"
i'\lm ER '_‘
J
/ R L]
..J
4 RIKiRK
—_— #lx B & ¥ 4 7 * >
%Wﬂﬁ%m
"""" # (MERF) = B " B R
R - (Baxgsy) =—-—-— 8 * ”
i
= & &t & Ex@ —-—— # »
" — = v E y & = ¥ R E M
i —Ee— B Ot ARRABRREM
)
i —JE— * * m = bl n
e
- % & * n x B t o ®
—O— mxan. a8 ¥ ] n E u
o
—0— @ xmn. 8 ¥ ® = L] L
—O— maxan sax @ & = #
> — & £l A A FenmF(EEeR
anm
" e B % ] s [0 O mEens(¥s 8B
#
fm —— m O @ mReuF(EE AR
(40 » cmateeem @ @ 2TxamF (#A 62
— ® O @ AEBAF(—R IR
)= 8 e e it ] " e BEFLA-RT-TR
€ % B N X om — = E L -
3 5.0 A
”_’_M; PR AR B = | w ® ot E o ARANGEHRERER
%
Tl EREMREUABES
i un —— NERUEABEXAEME
A =
\ EFo
i' St
nﬁmwnwax:m(mm =
ATAW /
7 I ¢ )
¢ ! W {S ] J
X S sk : w8} 7,' oS L
o & 8! EB i!l*n;g\m B;‘a _ »S V&
°' = [\ e i
& —~ O = E: T \\ %
i MR = e | y
7 afsnf ﬁ_(l 7}{“ ) { /-
ot mnrrnan«g- 7}(@}/‘9&*& { i :‘ -
\ N
4
i
i
u
¥
B

2 &Wﬁmy

m@%ﬁ

1

B Tolifo-+l B4

2 i HWL
- L lzm—_aw"‘
L= N &

: 5 JKEMEE
4 K - 5 ;
4k K = @K 2
ZENHESKRRE 0 misec %
i
b e

= 38
2 L 151 %
4,800 — 6,000 — o ﬁ
fhoe| £ | ERXME :
i : R o — ]l‘ll]
EII I%\ E Fﬁ %
o
PECT TR ETWEES U on MW B oon B




